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Chapter 3 Division of Labour

Specialization is practised to improve productivity

3.1 What is Divison of Labour?

It meanas workers specializing in doing one job or part of a job

E.g. A production line which a certain worker works on a specific task only.

2.2 Classification of Division of Labour

	Types of division of labour
	Definition
	Examples

	Simple division of labour
	Worker specializes in producing a particular good or service.
	Doctors provide medical service

	Complex division of labour
	Worker specizalizes in a particular stage of producing a good or service.
	Garment workers specializes in designing, cutting and package.

	Regional division of labour
	A district or country specializes in producing a particular good or service.
	Malaysia specializes in rubber.


Checkpoint: Do textbook’s exercise from page 54 to 57.

3.3 Advantages of Division of Labour


Why could division of labour improve productivity?

1. Choosing the best person to do the job (It maximizes output)

2. Practice makes perfect (improving productivity)

3. Economy of capital goods (they could be fully utilised)

4. Economy of time (Time saving in training and changing stage of production)

5. Mechanization (Machines could help doing part of the production process)

6. More leisure time available (higher living standard….as a result from factors above, that’s an advantage not to the firm, but to labours)

3.4 Disadvantages of Division of Labour

1. Monotony (to workers)

Job satisfaction is low, workers just repeat their task hundreds of times a day in complex division of labour

2. Greater risk of unemployment (to workers)

Their skills would be useless when it is no longer demanded by the market

3. Standardization of products (to the society)

Mass production creates standardized products. Consumers will have fewer choices.

4. Loss of craftsmanship (to the society)

Hand made products will gradually diminish as their cost is higher

5. Interdependence causes disruption (to the firm)

Any problem in a single stage of production will affect the whole production process.

Think about it: Do you think Division of Labour is a good idea?

Checkpoint: Do textbook’s exercise from page 58 to 60.

3.5 Limitations of Division of Labour

1. The nature of production (Complex division of labour is not always feasible) 

2. The size of the Market (One worker could produce the necessary output)

3. The possibilities of trade (No trade, no specialization)
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